JESRT: 10(6), June, 2021

International Journal of Engineering Sciences & Research **Technology** (A Peer Reviewed Online Journal)

Impact Factor: 5.164





Chief Editor

Dr. J.B. Helonde

Executive **E**ditor

Mr. Somil Mayur Shah

ISSN: 2277-9655

Website: www.ijesrt.com Mail: editor@ijesrt.com





Impact Factor: 5.164 ICTM Value: 3.00 **CODEN: IJESS7**



INTERNATIONAL JOURNAL OF ENGINEERING SCIENCES & RESEARCH **TECHNOLOGY**

EMISSION OF GRAVITATIONAL WAVES BY BLACK HOLES ACCORDING TO THE GENERALIZED GRAVITATIONAL EQUATION

Sami Abdalla Ahmed*¹, Mubarak Dirar Abdalla², Asim Ahmed Mohamed Fadol³ & Mohammed Merghani Rashed⁴

*1Sudan University of Science & Technology, College of Science, Department of Physics- Khartoum, Sudan

²Sudan University of Science & Technology, College of Science-Department of Physics & International University of Africa, Faculty of Pure and applied sciences, Department of physics-Khartoum-Sudan

³University of Bahri, , College of Applied and Industrial Science, Department of Physics & Comboni College of Science & Technology, Department of Physics, Khartoum-Sudan. ⁴Shaqra University, College of Science Humanities at Hurrymila, Department of Physics, KSA

DOI: https://doi.org/10.29121/ijesrt.v10.i6.2021.17

The generalized gravitational field equation has been adopted to see how gravitational waves can be generated. First one assumes spherically symmetric body solution. At the beginning of the work a useful expression for the time metric has been also obtained in terms of the potential for all fields including strong fields when the body is spherically symmetric. In this case standing, time oscillating, and radially decaying gravitational wave can be generated. However if the black hole quires a mass that exceeds a certain critical value a travelling gravitational waves can be emitted with wave length shorter than a certain critical wave length.

KEYWORDS: generalized filed equation, gravity, gravitational wave, black hole.

1. INTRODUCTION

The attractive shiny glittering attract people attention at very early times. This leads scientists to study the behavior of these beautiful objects. These astronomical objects are now well classified. The so called stars, are very large radiation generators. They generate energy due to the nuclear fusion process [1,2]. The so called planets revolve around the star. Satellites are known to revolve around each planet. A large number of star systems gather together to form the galaxy. Large number of galaxies accumulate themselves to form a cluster. The universe consists of large number of clusters. The recent widely accepted model to describe our universe is the known as the big bang model (BB) [3, 4]. The observed red shift of the light coming from remote stars confirms the BB suggestion that the universe is expanding. The observed cold relic microwave back ground agrees with the suggestion that after the big bang. The universe enter the so called radiation era [5,6]. The theory of general relativity predicts many phenomena like the deflection of light by the sun, the existence of exotic objects which emits radiation with very large red shift. These exotic objects include neutron stars, pulsars and black holes. All these observations were confirmed experimentally [7, 8]. Among these the black hole is one of the most important exotic object which pays attention of large number of researchers. The researches concentrate on trying to explain their peculiar properties. These include the large red shift, light trapping, and the emission of gravitational waves [9, 10]. This paper is devoted to promote the theoretical model concerned with the emission of gravitational waves.

2. GRAVITATIONAL WAVES
$$R_{i}i_{,j} = \frac{\partial R_{,j}}{\partial x^{j}} - \Gamma_{ij}^{\lambda}R_{,}\lambda$$

$$R_{,}0 = R_{,}t = \frac{\partial R}{\partial t} = R'$$
(1)

htytp://www.ijesrt.com@ International Journal of Engineering Sciences & Research Technology [136]



ISSN: 2277-9655





ICTM Value: 3.00

ISSN: 2277-9655 **Impact Factor: 5.164 CODEN: IJESS7**

$$R_{,}t_{,}i = \frac{\partial R_{,t}}{\partial x^{i}} - \Gamma_{ti}^{\lambda}R_{,}\lambda$$

$$R_{,}t_{,}i = \frac{\partial R_{,t}}{\partial t} - \Gamma_{tt}^{\lambda}R_{,}\lambda = R'' - \Gamma_{tt}^{\lambda}R_{,}\lambda = R'' - \Gamma_{tt}^{\lambda}R_{,}\lambda$$

$$= R'' - \Gamma_{tt}^{t}R' - \Gamma_{tt}^{t}R.$$

$$= R'' - \Gamma_{tt}^{t}R' - \Gamma_{tt}^{t}R.$$

$$R_{,t}t = \frac{\partial t}{\partial t} - \Gamma_{tt}^{t}R_{,\lambda} = R^{\prime\prime} - \Gamma_{tt}^{t}R_{,\lambda}$$

$$= R^{\prime\prime} - \Gamma_{tt}^{t}R^{\prime} - \Gamma_{tt}^{r}R^{\prime}$$

$$R_{,t}t, r = \frac{\partial R^{\prime}}{\partial r} - \Gamma_{rt}^{\lambda}R_{,\lambda} = R^{\prime\prime} - \Gamma_{tr}^{t}R^{\prime} - \Gamma_{tr}^{t}R^{\prime}$$

$$R_{,r}t = \frac{\partial R^{\prime}}{\partial t} - \Gamma_{rt}^{\lambda}R_{,\lambda} = R^{\prime\prime} - \Gamma_{rt}^{t}R^{\prime} - \Gamma_{rt}^{r}R^{\prime}$$

(4)

$$R_{r}r; r = \frac{\partial R^{r}}{\partial r} - \Gamma_{rr}^{\lambda} R_{r} \lambda = R^{r} - \Gamma_{rr}^{t} R^{r} - \Gamma_{rr}^{r} R^{r}$$

$$R^{2} = g^{\rho\sigma} R_{r}\rho; \sigma = g^{tt} R_{r}t; t + g^{tr} R_{r}t; r + g^{rt} R_{r}r; t + g^{rr} R_{r}r; r$$

$$(3)$$

$$R^{2} = g^{\rho\sigma}R_{,\rho}; \sigma = g^{tt}R_{,t}; t + g^{tr}R_{,t}; r + g^{rt}R_{,r}; t + g^{rr}R_{,r}; r - \frac{\beta R + 2\gamma}{2}$$

But

$$g^{tr} = 0 \quad g^{rt} = 0 \tag{5}$$

$$R^{2} = g^{tt}R_{,}t; t + g^{rr}R_{,}r; r$$

$$= g^{tt}[R'' - \Gamma_{tt}^{t}R' - \Gamma_{tt}^{r}R^{\cdot}] + g^{rr}[R'' - \Gamma_{rr}^{t}R' - \Gamma_{rr}^{r}R^{\cdot}]$$
(6)

From tensor relations, one gets

$$\Gamma_{\lambda\mu}^{\gamma} = \frac{1}{2} g^{\nu\gamma} \left[\partial_{\lambda} g_{\mu\nu} + \partial_{\mu} g_{\lambda\nu} - \partial_{\nu} g_{\lambda\mu} \right]$$

$$\Gamma_{tt}^{t} = \frac{1}{2} g^{\nu t} \left[\partial_{t} g_{t\nu} + \partial_{t} g_{t\nu} - \partial_{\nu} g_{tt} \right]$$

$$= \frac{1}{2}g^{tt}[2\partial_t g_{tt} - \partial_t g_{tt}] = \frac{1}{2}g^{tt}\frac{\partial g_{tt}}{\partial_t} = \frac{1}{2}g^{tt}g_{tt}'$$
(7)

$$\begin{split} \Gamma^{r}_{tt} &= \frac{1}{2}g^{vt}[\partial_{t}g_{tv} + \partial_{t}g_{tv} - \partial_{v}g_{tt}] = \frac{1}{2}g^{rr}[\partial_{t}g_{tr} + \partial_{t}g_{tr} - \partial_{r}g_{tt}] = -\frac{1}{2}g^{rr}g_{tt}^{\cdot} \\ \Gamma^{t}_{rr} &= \frac{1}{2}g^{vt}[\partial_{r}g_{rv} + \partial_{r}g_{rv} - \partial_{v}g_{rr}] = \frac{1}{2}g^{tt}[\partial_{r}g_{rt} + \partial_{r}g_{rt} - \partial_{t}g_{rr}] = -\frac{1}{2}g^{tt}\frac{\partial g_{rr}}{\partial_{t}} = -\frac{1}{2}g^{tt}g_{rr}^{\prime} \\ \Gamma^{r}_{rr} &= \frac{1}{2}g^{rr}[\partial_{r}g_{rr} + \partial_{r}g_{rr} - \partial_{r}g_{rr}] = \frac{1}{2}g^{rr}\frac{\partial g^{rr}}{\partial r} \end{split}$$

$$\frac{1}{2}g^{rr}g^{\cdot rr} \tag{8}$$

The equation of motion in the field is given by

$$\frac{dx^{\lambda}}{dt^2} + c^2 \Gamma_{00}^{\lambda} = 0 \tag{9}$$

The motion in one dimension towards the center in given by

$$\frac{d^2x^1}{dt^2} + c^2\Gamma_{00}^1 = 0\tag{10}$$

where

$$x^1 = r x^0 = ict (11)$$

In view of equation (8)

$$\Gamma_{tt}^r = \Gamma_{00}^1 = \Gamma_{00}^r = -\frac{1}{2}g^{rr}\frac{\partial g_{00}}{\partial r}$$
 (12)

Thus from equation (8)
$$\Gamma_{tt}^{r} = \Gamma_{00}^{1} = \Gamma_{00}^{r} = -\frac{1}{2}g^{rr}\frac{\partial g_{00}}{\partial r} \qquad (12)$$
Thus from equation (10), (11) and (12)
$$\ddot{r} = \frac{d^{2}r}{dt^{2}} = -\frac{c^{2}}{2}g^{rr}\nabla_{r}g_{00} = -\frac{c^{2}}{2}g^{rr}\frac{\partial g_{00}}{\partial r} = -\frac{c^{2}}{2}g^{rr}\nabla g_{00}$$
Thus from equation (8)

Thus from equation (8)

$$\Gamma_{tt}^{r} = -\frac{1}{2}g^{rr}g_{tt}^{r} = -\frac{1}{2}g^{rr}\frac{\partial g_{00}}{\partial r} = -\frac{1}{2}g^{rr}\nabla g_{00}$$
 (13)

$$\Gamma_{tt}^r = \frac{\ddot{r}}{c} = \frac{g_{rr}^2 \ddot{r}}{c^2} \tag{14}$$

Using (8), one also gets

$$\Gamma_{rr}^{t} = -\frac{1}{2}g^{tt}g_{rr}' = -\frac{1}{2}g^{00}\frac{\partial g_{rr}}{\partial t}$$

$$\tag{15}$$

htytp://www.ijesrt.com@International Journal of Engineering Sciences & Research Technology

RESEARCHERID



[Ahmed et al., 10(6): June, 2021]

ICTM Value: 3.00

ISSN: 2277-9655 **Impact Factor: 5.164 CODEN: IJESS7**

The proper interval is given by

$$ds^2 = g_{\mu\nu}dx^\mu dx\nu \tag{16}$$

For spherically symmetric direction independent, the proper interval is given by

$$ds^2 = g_{00}d^2x^0 + g_{rr}dr^2$$

$$=c^2g_{00}dt^2+g_{rr}dr^2\tag{17}$$

For astronomical object in the form of sphere

$$g_{rr} = 1 \qquad g_{rr} = 1 \tag{18}$$

Thus from equation (13)

$$\ddot{r} = -\frac{c^2}{2} \frac{\partial g_{00}}{\partial r}$$

$$g_{00} = -\frac{2}{c^2} \int \ddot{r} dr + c_0$$
(19)

$$g_{00} = -\frac{2}{c^2} \int \ddot{r} \, dr + c_0 \tag{20}$$

To satisfy Minkoskian limit in vacuum or free space

$$\ddot{r} = 0 \qquad c_0 = 1 \tag{21}$$

Where

$$g_{00} = \zeta_{00} = 1 \tag{22}$$

$$g_{00} = -\frac{2}{c^2} \int \ddot{r} \, dr + c_0 \tag{23}$$

$$= -\frac{2}{c^2} \int \ddot{r} \, dr + 1$$

But

$$F = m\ddot{r} = -\nabla V = -m\nabla \emptyset \tag{24}$$

$$g_{tt} = g_{00} = \frac{2}{c^2} \int \nabla \phi dr + 1 = \frac{2}{c^2} \int \frac{\partial \phi}{\partial r} dr + 1 = \frac{2\phi}{c^2} + 1$$
 (25)

$$g_{tt} = g_{00} = \frac{2}{c^2} \int \nabla \phi dr + 1 = \frac{2}{c^2} \int \frac{\partial \phi}{\partial r} dr + 1 = \frac{2\phi}{c^2} + 1$$
(25)
Thus this relation (25) is valid even for strong field. Using the formal definitions (6)
$$R^2 = g^{tt} \left[R'' - \frac{g^{tt}}{2} \frac{\partial g_{tt}}{\partial t} R' - \frac{1}{2} g^{rr} \frac{\partial g_{tt}}{\partial r} R' \right] + g^{rr} \left[\ddot{R} + \frac{1}{2} g^{tt} \frac{\partial g_{rr}}{\partial t} R' - \frac{1}{2} g^{rr} \frac{\partial g_{rr}}{\partial r} R' \right]$$
(26)

Since

$$g^{rr} = g_{rr} = 1$$

$$g_{rr} = 1 \tag{27}$$

$$g^{tt} = g^{00} = g_{00}^{-1} = \left(1 + \frac{2\emptyset}{c^2}\right) = g^{00}(r)$$

It follows that

$$\frac{\partial g_{tt}}{\partial t} = 0 \qquad \frac{\partial g_{rr}}{\partial t} = 0 \qquad \frac{\partial g^{rr}}{\partial t} = 0 \tag{28}$$

$$\frac{\partial g_{tt}}{\partial t} = 0 \qquad \frac{\partial g_{rr}}{\partial t} = 0 \qquad \frac{\partial g^{rr}}{\partial t} = 0 \qquad (28)$$

$$R^2 = g^{00} \left[R'' - \frac{1}{2} (\nabla g_{00}) R' \right] + R^{"}$$

Since for linear Lagrangian GFE reduced to GR, and since the non-linear term gives successful cosmological

Thus one select L to be

$$L = -\alpha R^2 + \beta R + \gamma \tag{30}$$

Thus the

$$R^2 = \frac{\beta R + 2\gamma}{6\alpha}$$
 Hence (31)

$$g^{00} \left[R'' - \frac{1}{2} (\nabla g_{00}) R' \right] + R'' = \frac{\beta R + 2\gamma}{6\alpha}$$
 (32)

But

$$g^{00} = g_{00}^{-1} (33)$$

$$R'' - \frac{1}{2} (\nabla g_{00}) R' + R'' = \left(\frac{\beta R + 2\gamma}{6\alpha}\right) g_{00}$$
 (34)

To simplify this equ, one can split R to time and r dependent parts to get

$$R(r,t) = h(t)f(r) \tag{35}$$

Thus

$$R=hf, R'=hf' \qquad R''=hf'' \tag{36}$$

htytp://www.ijesrt.com@ International Journal of Engineering Sciences & Research Technology





Impact Factor: 5.164 ICTM Value: 3.00 **CODEN: IJESS7**

ISSN: 2277-9655

Farther simplification can be made by considering the field out-side the source. Hence

$$(\gamma = 0) \tag{37}$$

$$h'' f + \frac{1}{2} (\nabla g_{00}) h f' + g_{00} h f'' = \frac{g_{00} \beta R}{6\alpha}$$
(38)

Dividing both sides by (hf) yields

$$\frac{h''}{h} + \frac{1}{2} (\nabla g_{00}) \frac{f}{f} + \frac{g_{00}f''}{f} = g_{00}b3$$
 (39)

Where

$$b_3 = \frac{\beta}{6\alpha} \tag{40}$$

Considering the particles as strings, the time metric is given by

$$g_{00} = 1 + \frac{2\emptyset}{c^2} = 1 + \frac{2}{c^2} \left(\frac{1}{2} \frac{k}{m} r^2 \right)$$

$$=1+\frac{k}{m}r^2=1+a_1r^2\tag{41}$$

$$a_1 = \frac{k}{c^2 m} \tag{42}$$

Therefore

$$\nabla g_{00} = 2a_1 r \tag{43}$$

One can solve equation (39) by suggesting

$$h = A_0 e^{-iwt} (44)$$

Thus

Thus
$$h' = \frac{\partial h}{\partial x} = \frac{\partial h}{ic\partial t} = -\frac{iwh}{ic} = \frac{-wh}{c}$$

$$h'' = \frac{-wh'}{c} = \frac{w^2}{c^2}h$$

$$h'' = -b4h$$
(45)

$$h^{\prime\prime} = \frac{-wh^{\prime}}{c} = \frac{w^2}{c^2} h \tag{46}$$

$$h'' = -b4h \tag{47}$$

$$b4 = \frac{-w^2}{c^2} \tag{48}$$

Thus from equation (39) and (46)

$$g_{00}f^{-} + \frac{1}{2}(\nabla g_{00})f^{-} = (g_{00}b3 + b4)f \tag{49}$$

To solve equation (49) consider the solution

$$f = (r + b_1)e^{b_2r}$$

$$f' = (b_1)e^{b_2r} + b_2(r + b_1)e^{b_2r}$$

$$= (b_1 + b_1b_2 + b_2r)e^{b_2r}$$

$$f'' = (b_2)e^{b_2r} + (b_1 + b_1b_2 + b_2r)b_2e^{b_2r}$$

$$f'' = (b_1b_2 + b_1b_2^2 + b_2 + b_2^2r)e^{b_2r}$$
(50)
A direct insertion of equation (50) in (49) gives

A direct insertion of equation (50) in (49) gives

$$(1 + a_1 r^2)(b_1 b_2 + b_1 b_2^2 + b_2 + b_2^2 r) + a_1 r(b_1 + b_1 b_2 + b_2 r) = (b_3 + a_1 b_3 r^2)(r + b_1) + b_4 (r + b_1)$$
(51)

$$b_1b_2 + b_1b_2^2 + b_2 + b_2^2r + a_1b_1b_2r^2 + a_1b_1b_2^2r^2 + a_1b_2r^2 + a_1b_2^2r^3 + (a_1b_1 + a_1b_1b_2)r + a_1b_2r^2$$

$$= b_3r + b_3b_1 + a_1b_3r^3 + a_1b_1b_3r^2 + b_1b_4 + b_4r$$
(52)

$$(b_1b_2 + b_1b_2^2 + b_2) + (b_2^2 + a_1b_1 + a_1b_1b_2)r + (a_1b_1b_2 + a_1b_1b_2^2 + a_1b_2 + a_1b_2)r^2 + a_1b_2^2r^3$$

$$= (b_1b_3 + b_1b_4) + (b_3 + b_4)r + a_1b_1b_3r^2 + a_1b_3r^3$$
(53)

Taking the coefficients of r^n

$$r^0: b_1b_2 + b_1b_2^2 + b_2 = b_1b_3 + b_1b_4 \tag{54}$$

$$r: b_2^2 + a_1 b_1 + a_1 b_1 b_2 = b_3 + b_4$$
 (55)

$$r^2: a_1b_1b_2 + a_1b_1b_2^2 + 2a_1b_2 = a_1b_1b_3$$
 (56)

$$a_1 b_2^2 = a_1 b_3 \tag{57}$$

From (57):

$$b_3 = b_2^2 (58)$$

From (56):

$$a_1b_1b_2 + a_1b_1b_2^2 + 2a_1b_2 = a_1b_1b_2^2$$
$$a_1b_1b_2 + 2a_1b_2 = 0$$

htytp://www.ijesrt.com@International Journal of Engineering Sciences & Research Technology [139]





IC™ Value: 3.00

$$b_1 = -2 \tag{59}$$

From (55), (58) and (59)

$$b_2^2 - 2a_1 - 2a_1b_2 = b_2^2 + b_4$$

$$b_2^2 - 2a_1 - 2a_1b_2 = b_2^2 + b_4$$

$$b_4 = -2a_1 - 2a_1b_2$$
From (54), (58), (59): (60)

$$-2b_2 - 2b_2^2 + b_2 = -2b_2^2 - 2b_4 - 2b_4 = -b_2$$

$$b_4 = \frac{1}{2}b_2 \tag{61}$$

Sub (61) in (60)

$$\begin{aligned} &\frac{1}{2}b_2 = -2a_1 - 2a_1b_2\\ &b_2 = -4a_1 - 4a_1b_2\\ &(1+4a_1)b_2 = -4a_1 \end{aligned}$$

$$b_2 = \frac{-4a_1}{(1+4a_1)}$$
Thus from equation (42) (62)

$$b_1 = \frac{-4\left(\frac{k}{mc^2}\right)}{1 + \frac{4k}{mc^2}} = \frac{-4k}{mc^2 + 4k} = -\gamma_0 \tag{63}$$

Thus inserting equation (63) and (59)

$$f = (r-2)e^{-\gamma_0 r} \tag{64}$$

In view of equations (37), (45) and (64)

$$R=A_0e^{-iwt}(r-2)e^{-\gamma_0r}$$

$$R = A_0(r-2)e^{-\gamma_0 r}e^{-iwt} \tag{65}$$

Which describes stationary, standing, spatial decaying, time oscillating gravitational wave.

Equation (26) can be written using curved space coordinate

$$dt_c = \sqrt{g_{tt}} \cdot dt$$

$$dr_c = \sqrt{g_{rr}} \cdot dr \tag{66}$$

To get

$$R^{2} = \frac{\partial^{2}R^{\cdot}}{\partial t_{c}^{2}} - \frac{1}{2}g^{tt}\frac{\partial g_{tt}}{\partial t_{c}}\frac{\partial R}{\partial t_{c}} - \frac{1}{2}g^{tt}\frac{\partial g_{tt}}{\partial r_{c}}\frac{\partial R}{\partial r_{c}}$$

$$+ \frac{\partial^{2}R^{\cdot}}{\partial r_{c}^{2}} + \frac{1}{2}g^{rr}\frac{\partial g_{rr}}{\partial t_{c}}\frac{\partial R}{\partial t_{c}} - \frac{1}{2}g^{rr}\frac{\partial g_{tt}}{\partial r_{c}}\frac{\partial R}{\partial r_{c}}$$

$$R^{2} = R'' - \frac{1}{2}g^{tt}g'_{tt}R' - \frac{1}{2}g^{tt}g'_{tt}R' + R'' + \frac{1}{2}g^{rr}g'_{rr}R' - \frac{1}{2}g^{rr}g'_{rr}R'$$

$$(67)$$

$$R^{2} = R'' - \frac{1}{2}g^{tt}g'_{tt}R' - \frac{1}{2}g^{tt}g_{tt}R' + R'' + \frac{1}{2}g^{rr}g'_{rr}R' - \frac{1}{2}g^{rr}g_{rr}R'$$
(67)

Following Schwarzschild solution
$$g_{rr} = g_{tt}^{-1} = \left(1 + \frac{2\emptyset}{c^2}\right)^{-1} = \left(1 + \frac{2V}{mc^2}\right)^{-1}$$
(68)

Where one assume the black hole as a harmonic oscillator, with

$$V = \frac{1}{2}kr^2\tag{69}$$

Since the potential V is part of the total energy mc^2 thus

$$V < mc^2$$

$$mc^2 > \frac{1}{2}kr^2$$

$$m > \frac{kr^2}{2c^2} \tag{70}$$

In this case

$$g_{rr} \approx 1$$
 $g^{rr} \approx 1$ $g_{tt} \approx 1$ $g^{tt} \approx 1$ (71)

Therefore equation (67) becomes

$$R^2 = R'' + R^{"} \tag{72}$$

In view of equation (31), with $(\gamma = 0)$

$$R'' + R'' = \frac{\hat{\beta}}{6\alpha}R\tag{73}$$

Suggesting again

htytp://www.ijesrt.com@ International Journal of Engineering Sciences & Research Technology [140]

ISSN: 2277-9655

CODEN: IJESS7

Impact Factor: 5.164





ICTM Value: 3.00

ISSN: 2277-9655 **Impact Factor: 5.164 CODEN: IJESS7**

$$R = f(r)h(t) = fh (74)$$

In view of equations (41) and (74)

$$fh'' + hf'' = b_3 fh \tag{75}$$

$$\frac{h''}{h} + \frac{f''}{f} = b_3$$
Using equations (45) and (47) beside (48)

$$\frac{f''}{f} = b_3 + b_4 = b_3 - \frac{w^2}{c^2} \tag{76}$$

One can solve this equation by suggesting

$$f = ikf$$
 $f'' = -k^2 f$ (77)
A direct substitution of (77) in (76) gives

$$-k^2 = b_3 - \frac{w^2}{c^2}$$

$$k^{2} = \frac{w^{2}}{c^{2}} - b_{3} = \frac{w^{2}}{c^{2}} - \frac{\beta}{6\alpha}$$
In view of equations (45), (74) and (78)
$$R = A_{0}e^{i(kr - wt)}$$
(79)

$$R = A_0 e^{i(kr - wt)} \tag{79}$$

Thus gravitational waves can be generated provided that

 $k^2 > 0$ (80)

According to equation (78) this require

$$\frac{w^2}{c^2} - \frac{\beta}{6\alpha} > 0$$

$$w^{2} > \frac{\beta}{6\alpha}c^{2}$$
Since
$$w = \frac{2\pi c}{\lambda} = ck$$
(81)

$$w = \frac{2\pi c}{\lambda} = ck \tag{82}$$

Let the critical wave number defined by

$$k_c^2 = \frac{\beta}{6\alpha} \tag{83}$$

Thus condition (81) can be rewritten as

$$\frac{w^2}{c^2} > k_c^2$$

$$k^2 > k_c^2$$

$$\frac{1}{\lambda} > \frac{1}{\lambda}$$
(84)

$$\lambda < \lambda_c$$
 (85)

3. DISCUSSION

Using Riemann geometry the generalized field equation of the gravitational field has been exhibited in a very general form in equations (4). Restricting our-selves to spherically symmetric bodies the GFE is reduced to equation (33). The time metric goo is shown by equations (10-25) to represent all fields including strong fields. The GFE has been solved by using the method of separation of variables, by splitting R to time and radial parts as shown by equation (36). The time part solution (45) suggests time oscillating field. However the radial solution (64) indicates radially decaying wave. Equation (65) shows generation of gravitational waves by black holes in the form of non-travelling standing radial decaying wave, but when one uses curved coordinates (see eqn (66)), and bearing in mind that the potential energy is less that the total energy, the GFE (67) reduces to (72). The solution (79) predicts generation of travelling oscillating gravitational field provided that the black hole mass exceeds certain critical mass $m_c = \frac{Kr^2}{2c^2}$ as eqn (70) indicates. The gravitational waves generated should also have shorter wave length less than a certain critical value determined by equation (85).





[Ahmed *et al.*, 10(6): June, 2021] Impact Factor: 5.164 ICTM Value: 3.00 CODEN: IJESS7

4. CONCLUSION

The theoretical model based on the GFE shows that a gravitational wave in the form of standing time oscillating and radially decaying wave can be generated by any black hole. However it the black hole a quire a mass larger than acritical value, a travelling gravitational wave can be generated with wave lengths, shorter than a certain critical value.

REFERENCES

- [1] Mohammed Saeed Dawood Amir, Mubark Dirar Abdallah, Ibrahim Hassan, Sawsan Ahmed Elhouri Ahmed, Generation of Elementary particles inside black holes of Planck time, international Journal of innovative science engineering and technology, vol.5 issue 1. January 2018.
- [2] Abeer Mohammed Khairy Ahmed, Moshair Ahmed Mohammed Yousif, Zainab Mustapha Kurawa, Zoalnoon Ahmed Abeid Allah Saad, Suhair Salih Makawy, Mohammed Idriss Mohammed, Mubark Dirar Abdalla, Sami Abdalla Elbadawi Mohammed. Determination of photon and Elementary particles rest massed using max well's equations and generalized potential dependent special relativity. Natural science, Vol.12(No8), 2020.
- [3] Abdelkareem Gesmallah Khogli, Mubark Dirar Abdallah, Musa Ibrahim Babiker Hussain, Sawsan Ahmed Elhouri Ahmed. energy momentum relation and eigen equation in a curved space time international journal of recent engineering research and development, (IJRERD) Volume 04. Issue 05 May 2019.
- [4] Mohammed Saeed Dawood Aamir, Mubark Dirar Abdallah, Sawsan Ahmed Elhouri Ahmed. Evlution of stars by kinetic theory and quantum physics on the basic generalized special relativity international Journal of innovative science. Engineering and technology. Vol.5 issue1. January 2018.
- [5] Arbab Ibrahim Arbab The Generalized Newton's Law of Gravitation versus the General Theory of Relativity, Jurnal of modern physics, 2012.
- [6] S. Wein beng, "Gravitation and cosmology", John Wiely, New York, 1971.
- [7] T. Cheng "Relativity" Gravitation, and cosmology, Oxford University press, Oxford, p. 108, 2005.
- [8] Mubarak Dirar Abdallah, Mohammed S. Dawood, Ahmed, A. Elfaki, Sawsan Ahmed Elhouri, Equilibrium of stars within the framework of generalized special relativity theory, international journal of Innovative science, engineering technology, vol. 4. 2018.
- [9] Hawking S. W., Black Hole, Explosions, Nature 248, 30-31, 1974.
- [10] Hawking, S. E. partical creation by black holes, common. Math phys. 43, 199, 1975

ISSN: 2277-9655